Stock Number	Quantities	Unit of Measurement	Description	Vendor	Terms	Brand	Product Code	Pack Size	Cost per Serving	Cost per Unit/Case	Percent Eligible for Local Produce Items Grown within a 260 Miles Radius from Memphis	Quantity of Produce Items Grown within 260 Miles from Memphis	Discount 5%	Extended Cost	Preference Weighted Bid Amount Total	Notes
1137	600	Case	APPLES, GRANNY SMITH - SMOOTH, FIRM, FRESH SKIN. WELL COLORED, NO DISCOLORATION OR BRUISES. APPROXIMATELY PACKED 125 - 138 COUNT.	M. PALAZOLA PRODUCE	NET 14 DAYS	CHELAN	1124	125-138 COUNT	\$0.18	\$24.00	0%	0	\$0.00	\$14,400.00	\$14,400.00	
1138	450	Case	APPLES, BRIGHT RED SKIN COLOR - HEART - SHAPED, NO DISCOLORATION OR BRUISES. APPROXIMATELY PACKED 125 - 138 COUNT.	M. PALAZOLA PRODUCE	NET 14 DAYS	CHELAN	1140	125-138 COUNT	\$0.18	\$24.00	0%	0	\$0.00	\$10,800.00	\$10,800.00	
1146	350	Case	BANANAS - BRIGHT YELLOW COLOR, FIRM AND NO BRUISES. COLOR RANGE 3 - 4 IN RIPENESS, FREE FROM DECAY. PACKED CLUSTER PACK, 125 - 130 COUNT.	M. PALAZOLA PRODUCE	NET 14 DAYS	CHIQUITA	1166	100-130 COUNT	\$0.13	\$16.00	0%	0.00	\$0.00	\$5,600.00	\$5,600.00	
1154	350	Case	GRAPES, FRESH RED, PREPACKAGED - FRESH SEEDLESS RED BUNCHED GRAPES. WASHED AND READY TO EAT. FRESH OFF STEM. PACKAGED - 100-2 oz. PREPACKAGED BAGS.	M. PALAZOLA PRODUCE	NET 14 DAYS	DNO	1957	100/2OZ	\$0.43	\$42.50	0%	0.00	\$0.00	\$14,875.00	\$14,875.00	
1161	250	Case	PEACHES. NICE FIRM FRESH CREAMY, OR YELLOWISH COLOR. NO BRUISED OR SOFT SKIN. APPROXIMATELY 96 COUNT CASE.	M. PALAZOLA PRODUCE	NET 14 DAYS	JONES	1688	96 COUNT	\$0.30	\$28.85	0%	0.00	\$0.00	\$7,212.50	\$7,212.50	
1166	200	Case	PEARS, GREEN OR RED COLOR - PREFFERABLE BOSC OR BARTLETT, FRESH, FIRM SKIN. PACKED 135 COUNT CASE.	M. PALAZOLA PRODUCE	NET 14 DAYS	CHELAN	1777	135 COUNT	\$0.26	\$34.50	0%	0.00	\$0.00	\$6,900.00	\$6,900.00	
1169	150	Case	RAINBOW CAULIFLOWER - BRIGHT IN COLOR, FREE FROM BLEMISHES AND DECAY.	M. PALAZOLA PRODUCE	NET 14 DAYS	DNO	1311	50 COUNT	\$0.82	\$39.50	0%	0.00	\$0.00	\$5,925.00	\$5,925.00	
1171	500	Case	PLUMS - RED, BLACK, PURPLE FRESH-LOOKING COLOR. PLUMP, NO BRUISING, WELL-ROUNDED, NO BRUISES. APPROX. 2 1/2 - 3" IN DIAMETER, 100-112 CT. INDICATE PACK SIZE.	M. PALAZOLA PRODUCE	NET 14 DAYS	JONES	1800	100-112 COUNT	\$0.26	\$28.85	0%	0.00	\$0.00	\$14,425.00	\$14,425.00	
1187	300	Case	SWEET POTATO STICKS - BRIGHT ORANGE COLOR, NO BLEMISHES. FREE FROM DECAY.	M. PALAZOLA PRODUCE	NET 14 DAYS	DNO	1968	50 COUNT	\$0.47	\$23.50	0%	0.00	\$0.00	\$7,050.00	\$7,050.00	
1248	300	Case	APPLES, SNAP DRAGON SLICES- 2 OZ / 80 CT - FRESHLY PREPACKAGED. MUST BE PREWASHED AND FREE OF BLEMISHES. BRIGHT IN COLOR/S. IF PACKED DIFFERENTLY PLEASE SPECIFY.	M. PALAZOLA PRODUCE	NET 14 DAYS	DNO	2297	80/2OZ	\$0.45	\$35.50	0%	0.00	\$0.00	\$10,650.00	\$10,650.00	

Stock Number	Quantities	Unit of Measurement	Description	Vendor	Terms	Brand	Product Code	Pack Size	Cost per Serving	Cost per Unit/Case	Percent Eligible for Local Produce Items Grown within a 260 Miles Radius from Memphis	Quantity of Produce Items Grown within 260 Miles from Memphis	Discount 5%	Extended Cost	Preference Weighted Bid Amount Total	Notes
1436	1100	Case	VEG CARROT SNACK - CS (100/2 OZ PKG) BABY WHOLE, FIRM, CRISP. FRESH, BRIGHT ORANGE COLOR. FREE FROM DECACY, NO PRESERVATIVES.	M. PALAZOLA PRODUCE	NET 14 DAYS	GRIMMWAY	1269	1002OZ	\$0.23	\$22.85	0%	0.00	\$0.00	\$25,135.00	\$25,135.00	
1446	200	Case	SQUASH COINS SNACK- CS (50 - 1/2 CUP PKG). PACK TO INCLUDE SLICED YELLOW SQUASH. SQUASH TO BE PALE TO BRIGHT YELLOW IN COLOR. TO BE BLEMISH AND DECAY FREE.	M. PALAZOLA PRODUCE	NET 14 DAYS	DNO	1969	50 COUNT	\$0.43	\$21.50	0%	0.00	\$0.00	\$4,300.00	\$4,300.00	
1449	575	Case	CUCUMBERS & GRAPE TOMATOES - FRESH PREPACKAGED 1/2 CUP PORTION.	M. PALAZOLA PRODUCE	NET 14 DAYS	DNO	1974	50 COUNT	\$0.43	\$21.50	0%	0.00	\$0.00	\$12,362.50	\$12,362.50	
1453	400	Case	BROCCOLI & CARROT COINS SNACK - CRISP, FIRM, FRESH, BROCCOLI FLORETTES AND BRIGHT ORANGE CARROT COINS. NO EVIDENCE OF DECAY. PACKED TO MEET 1/2 CUP VEGETABLE SERVING FOR THE CHILD NUTRITION PROGRAM.PACKED APPROXIMATELY 80 COUNT CASE.	M. PALAZOLA PRODUCE	NET 14 DAYS	DNO	2343	80 COUNT	\$0.35	\$28.00	0%	0.00	\$0.00	\$11,200.00	\$11,200.00	
1455	400	Case	LETTUCE, SHREDDED ICEBERG - FRESH, NO DISCOLORATION, NO BROWNING OR DECAY. PACKED 5 LB BAG.	M. PALAZOLA PRODUCE	NET 14 DAYS	TAYLOR FARMS	1525	5LB BAG	\$0.23	\$5.90	0%	0.00	\$0.00	\$2,360.00	\$2,360.00	
1457	200	Case	CARROT SNACK W/CHILI LIME SEASONING PACKET- SNACK PACKS OF WHOLE BABY CARROTS WITH A CHILI LIME SEASONING PACKET. CARROTS MUST BE FIRM, CRISP. FRESH, BRIGHT ORANGE COLOR. FREE FROM DECAY, NO PRESERVATIVES. MUST MEET 1/2 CUP VEGETABLE SERVING FOR THE CHILD NUTRITION PROGRAM. PACKED APPROXIMATELY 75 SERVINGS PER CASE.	M. PALAZOLA PRODUCE	NET 14 DAYS	GRIMMWAY	2345	75 COUNT	\$0.33	\$24.50	0%	0.00	\$0.00	\$4,900.00	\$4,900.00	
1459	200	Case	CELERY AND GRAPE TOMATO SNACK - FIRM, FRESH STALKS OF CELERY AND FIRM, BRIGHT RED GRAPE TOMAOTES. NO BRUISED OR SOFT SKIN ON TOMATOES. CELERY STALKS HAVE NOT BORWNING ON CUT ENDS. APPROXIMATELY 96-120 COUNT CASE. NO EVIDENCE OF DECAY. MUST MEET 1/2 CUP VEGETABLE SERVING FOR THE CHILD NUTRITION PROGRAM. PACKED APPROXIMATELY 80 COUNT CASE.	M. PALAZOLA PRODUCE	NET 14 DAYS	DNO	2346	80 COUNT	\$0.29	\$23.00	0%	0.00	\$0.00	\$4,600.00	\$4,600.00	

Stock Number	Quantities	Unit of Measurement	Description	Vendor	Terms	Brand	Product Code	Pack Size	Cost per Serving	Cost per Unit/Case	Percent Eligible for Local Produce Items Grown within a 260 Miles Radius from Memphis	Quantity of Produce Items Grown within 260 Miles from Memphis	Discount 5%	Extended Cost	Preference Weighted Bid Amount Total	Notes
1488	350	Case	GRAPE/CHERRY TOMATOES - SMALL MEDIUM SIZE, ROUND SHAPED WITH FIRM SHINY RED SKIN. NOT TOO RIPE, NO BLEMISHES OR LEAKES. STAGE 6 RED RIPENING. PACKED 12 PINTS/CASE	M. PALAZOLA PRODUCE	NET 14 DAYS	TOR	2041	12 PINT	\$0.10	\$14.50	0%	0.00	\$0.00	\$5,075.00	\$5,075.00	
1597	1100	Bag	SALAD MIX BLEND – 5# BAGS, PACKED VACCUM SEALED. MIX TO CONSIST OF A MINIMUM OF 60% GREEN ROMAINE LETTUCE, WITH THE REMAINING 40% TO CONSIST OF A MIXTURE OF PRODUCTS LIKE: RADICCHIO, GREEN LEAF LETTUCE, ICEBURG LETTUCE, ARUGULA, ETC. NO SIGNS OF WILT, DISCOLORATION OR BROWN SPOTS, OR DECAY WILL BE ACCEPTABLE.	M. PALAZOLA PRODUCE	NET 14 DAYS	TAYLOR FARMS	1921	5 LB	\$0.20	\$6.85	0%	0.00	\$0.00	\$7,535.00	\$7,535.00	
1709	200	Case	APPLES, GALA - SMOOTH, FIRM, FRESH SKIN. WELL COLORED, NO DISCOLORATION OR BRUISES. APPROXIMATELY PACKED 125 - 138 COUNT.	M. PALAZOLA PRODUCE	NET 14 DAYS	CHELAN	1109	125-138	\$0.18	\$24.00	0%	0.00	\$0.00	\$4,800.00	\$4,800.00	
1738	40	Case	BROCCOLI FLORETTES, SNACK - 50-1/2 CUP PKG. NO PRESERVETIVES, FIRM, DARK GREEN IN COLOR.	M. PALAZOLA PRODUCE	NET 14 DAYS	DNO	1943	50 COUNT	\$0.43	\$21.50	0%	0.00	\$0.00	\$860.00	\$860.00	
1741	925	Case	GRAPE TOMATO SNACK - CS (50 - 1/2 CUP PKG) GRAPE AND/OR CHERRY TOMATOES WITH BRIGHT TO DARK RED COLORING WITH NATURAL SHINE, FIRM, SMOOTH SKIN. FREE FROM DECAY AND DISCOLORATION.	M. PALAZOLA PRODUCE	NET 14 DAYS	DNO	1972	50 COUNT	\$0.54	\$27.00	0%	0.00	\$0.00	\$24,975.00	\$24,975.00	
1743	250	Case	ORANGE WEDGES - 1/2 CUP 50 CT - SNACK PACKS, SLICED ORANGE SNACK PACKS, FRESHLY PACKED AND BRIGHT IN COLOR, FRUIT FIRM, NO DISCOLORATION. FREE FROM DECAY, NO PRESERVATIVES.	M. PALAZOLA PRODUCE	NET 14 DAYS	DNO	1961	50 COUNT	\$0.47	\$23.50	0%	0.00	\$0.00	\$5,875.00	\$5,875.00	
1744	450	Case	PINEAPPLE CHUNKS - SNACK PACKS, CUT IN BITE SIZED CHUNKS, PINEAPPLE SNACK PACKS, FRESHLY PACKED AND BRIGHT IN COLOR, FRUIT FIRM, NO DISCOLORATION. FREE FROM DECAY, NO PRESERVATIVES.	M. PALAZOLA PRODUCE	NET 14 DAYS	DNO	1967	50 COUNT	\$0.55	\$27.50	0%	0.00	\$0.00	\$12,375.00	\$12,375.00	
1797	450	Case	GREEN & RED BELL PEPPERS - SNACK PACKS, FRESHLY PREPACKAGED. MUST BE PREWASHED AND FREE OF BLEMISHES. BRIGHT IN COLOR/S.	M. PALAZOLA PRODUCE	NET 14 DAYS	DNO	2313	50 COUNT	\$0.56	\$28.00	0%	0.00	\$0.00	\$12,600.00	\$12,600.00	

Stock Number	Quantities	Unit of Measurement	Description	Vendor	Terms	Brand	Product Code	Pack Size	Cost per Serving	Cost per Unit/Case	Percent Eligible for Local Produce Items Grown within a 260 Miles Radius from Memphis	Quantity of Produce Items Grown within 260 Miles from Memphis	Discount 5%	Extended Cost	Preference Weighted Bid Amount Total	Notes
1832	300	Case	TOMATOES SLICED- FIRM SHINY RED SKIN AND FRESH. NOT TOO RIPE, NO BLEMISHES OR LEAKS, HARD ENDS, STEMS, OR CAPS PRESENT. STAGE 6 RED RIPENING. PACKED IN 5 LB. CONTAINERS SEALED WITH FILM IN RESEALABLE ORIGINAL CONTAINER.	M. PALAZOLA PRODUCE	NET 14 DAYS	PALAZOLA	2063	5LB BAG	\$0.45	\$23.00	0%	0.00	\$0.00	\$6,900.00	\$6,900.00	
1836	250	Case	CANTALOUPE CHUNKS - SNACK PACKS, CUT IN BITE SIZED CHUNKS, CANTALOUPE SNACK PACKS, FRESHLY PACKED AND BRIGHT IN COLOR, FRUIT FIRM, NO DISCOLORATION. FREE FROM DECAY, NO PRESERVATIVES.	M. PALAZOLA PRODUCE	NET 14 DAYS	DNO	1959	50 COUNT	\$0.48	\$24.00	0%	0.00	\$0.00	\$6,000.00	\$6,000.00	
1839	250	Case	WATERMELON CHUNKS - SNACK PACKS, CUT IN BITE SIZED CHUNKS, WATERMELON SNACK PACKS, FRESHLY PACKED AND BRIGHT IN COLOR, FRUIT FIRM, NO DISCOLORATION. FREE FROM DECAY, NO PRESERVATIVES.	M. PALAZOLA PRODUCE	NET 14 DAYS	DNO	2485	50 COUNT	\$0.46	\$23.00	0%	0.00	\$0.00	\$5,750.00	\$5,750.00	
1840	200	Case	HONEYDEW CHUNKS - SNACK PACKS, CUT IN BITE SIZED CHUNKS, HONEYDEW SNACK PACKS, FRESHLY PACKED AND BRIGHT IN COLOR, FRUIT FIRM, NO DISCOLORATION. FREE FROM DECAY, NO PRESERVATIVES.	M. PALAZOLA PRODUCE	NET 14 DAYS	DNO	2450	50 COUNT	\$0.46	\$23.00	0%	0.00	\$0.00	\$4,600.00	\$4,600.00	
													TOTAL	\$260,040.00	\$260,040.00	
1137	600	Case	APPLES, GRANNY SMITH - SMOOTH, FIRM, FRESH SKIN. WELL COLORED, NO DISCOLORATION OR BRUISES. APPROXIMATELY PACKED 125 - 138 COUNT.	Forestwood	NET 21 DAYS	CHELAN FRESH	1137	125/138 ct	\$0.18	\$25.50			\$0.00	\$15,300.00	\$15,300.00	
1138	450	Case	APPLES, BRIGHT RED SKIN COLOR - HEART - SHAPED, NO DISCOLORATION OR BRUISES. APPROXIMATELY PACKED 125 - 138 COUNT.	Forestwood	NET 21 DAYS	CHELAN FRESH	1138	125/138 ct	\$0.18	\$24.95			\$0.00	\$11,227.50	\$11,227.50	
1146	350	Case	BANANAS - BRIGHT YELLOW COLOR, FIRM AND NO BRUISES. COLOR RANGE 3 - 4 IN RIPENESS, FREE FROM DECAY. PACKED CLUSTER PACK, 125 - 130 COUNT.	Forestwood	NET 21 DAYS	DOLE	1146	3 - 4 IN RIPENESS, FREE FROM DECAY. PACKED CLUSTER PACK, 125/130 ct	\$0.13	\$16.50			\$0.00	\$5,775.00	\$5,775.00	

Stock Number	Quantities	Unit of Measurement	Description	Vendor	Terms	Brand	Product Code	Pack Size	Cost per Serving	Cost per Unit/Case	Percent Eligible for Local Produce Items Grown within a 260 Miles Radius from Memphis	Quantity of Produce Items Grown within 260 Miles from Memphis	Discount 5%	Extended Cost	Preference Weighted Bid Amount Total	Notes
1154	350	Case	GRAPES, FRESH RED, PREPACKAGED - FRESH SEEDLESS RED BUNCHED GRAPES. WASHED AND READY TO EAT. FRESH OFF STEM. PACKAGED - 100-2 oz. PREPACKAGED BAGS.	Forestwood	NET 21 DAYS	DNO	1154	100/100-2 ct	\$0.45	\$44.95			\$0.00	\$15,732.50	\$15,732.50	
1161	250	Case	PEACHES. NICE FIRM FRESH CREAMY, OR YELLOWISH COLOR. NO BRUISED OR SOFT SKIN. APPROXIMATELY 96 COUNT CASE.	Forestwood	NET 21 DAYS	TBD	1161	96 ct	\$0.28	\$26.95			\$0.00	\$6,737.50	\$6,737.50	
1166	200	Case	PEARS, GREEN OR RED COLOR - PREFFERABLE BOSC OR BARTLETT, FRESH, FIRM SKIN. PACKED 135 COUNT CASE.	Forestwood	NET 21 DAYS	CHELAN FRESH	1166	135 ct	\$0.26	\$34.95			\$0.00	\$6,990.00	\$6,990.00	
1169	150	Case	RAINBOW CAULIFLOWER - BRIGHT IN COLOR, FREE FROM BLEMISHES AND DECAY.	Forestwood	NET 21 DAYS	TBD	1169	50-1/2 cup	\$0.80	\$39.95			\$0.00	\$5,992.50	\$5,992.50	
1171	500	Case	PLUMS - RED, BLACK, PURPLE FRESH-LOOKING COLOR. PLUMP, NO BRUISING, WELL-ROUNDED, NO BRUISES. APPROX. 2 1/2 - 3" IN DIAMETER, 100-112 CT. INDICATE PACK SIZE.	Forestwood	NET 21 DAYS	TBD	1171	2 1/2/3" IN DIAMETER, 100- 112 ct	\$0.24	\$26.95			\$0.00	\$13,475.00	\$13,475.00	
1187	300	Case	SWEET POTATO STICKS - BRIGHT ORANGE COLOR, NO BLEMISHES. FREE FROM DECAY.	Forestwood	NET 21 DAYS	ALABAMA PRECUT	1187	50-1/2 cup	\$0.50	\$24.95			\$0.00	\$7,485.00	\$7,485.00	
1248	300	Case	APPLES, SNAP DRAGON SLICES- 2 OZ / 80 CT - FRESHLY PREPACKAGED. MUST BE PREWASHED AND FREE OF BLEMISHES. BRIGHT IN COLOR/S. IF PACKED DIFFERENTLY PLEASE SPECIFY.	Forestwood	NET 21 DAYS	DNO	1248	2 OZ / 80 CT/ FRESHLY PREPACKAGED. MUST BE PREWASHED AND FREE OF BLEMISHES. BRIGHT IN COLOR/S. IF PACKED DIFFERENTLY PLEASE ct	\$0.43	\$34.50			\$0.00	\$10,350.00	\$10,350.00	
1436	1100	Case	VEG CARROT SNACK - CS (100/2 OZ PKG) BABY WHOLE, FIRM, CRISP. FRESH, BRIGHT ORANGE COLOR. FREE FROM DECACY, NO PRESERVATIVES.	Forestwood	NET 21 DAYS	BOLT HOUSE	1436	100/2 oz	\$0.22	\$21.95			\$0.00	\$24,145.00	\$24,145.00	
1446	200	Case	SQUASH COINS SNACK- CS (50 - 1/2 CUP PKG). PACK TO INCLUDE SLICED YELLOW SQUASH. SQUASH TO BE PALE TO BRIGHT YELLOW IN COLOR. TO BE BLEMISH AND DECAY FREE.	Forestwood	NET 21 DAYS	ALABAMA PRECUT	1446	50/1/2 ct	\$0.40	\$19.95			\$0.00	\$3,990.00	\$3,990.00	
1449	575	Case	CUCUMBERS & GRAPE TOMATOES - FRESH PREPACKAGED 1/2 CUP PORTION.	Forestwood	NET 21 DAYS	ALABAMA PRECUT	1449	50-1/2 cup	\$0.42	\$21.00			\$0.00	\$12,075.00	\$12,075.00	

Stock Number	Quantities	Unit of Measurement	Description	Vendor	Terms	Brand	Product Code	Pack Size	Cost per Serving	Cost per Unit/Case	Percent Eligible for Local Produce Items Grown within a 260 Miles Radius from Memphis	Quantity of Produce Items Grown within 260 Miles from Memphis	Discount 5%	Extended Cost	Preference Weighted Bid Amount Total	Notes
1453	400	Case	BROCCOLI & CARROT COINS SNACK - CRISP, FIRM, FRESH, BROCCOLI FLORETTES AND BRIGHT ORANGE CARROT COINS. NO EVIDENCE OF DECAY. PACKED TO MEET 1/2 CUP VEGETABLE SERVING FOR THE CHILD NUTRITION PROGRAM.PACKED APPROXIMATELY 80 COUNT CASE.	Forestwood	NET 21 DAYS	CHURCH BOLTHOUSE	400	50-1/2 cup	\$0.54	\$27.00			\$0.00	\$10,800.00	\$10,800.00	
1455	400	Case	LETTUCE, SHREDDED ICEBERG - FRESH, NO DISCOLORATION, NO BROWNING OR DECAY. PACKED 5 LB BAG.	Forestwood	NET 21 DAYS	GREEN GATE	400	5#		\$6.00			\$0.00	\$2,400.00	\$2,400.00	
1457	200	Case	CARROT SNACK W/CHILI LIME SEASONING PACKET- SNACK PACKS OF WHOLE BABY CARROTS WITH A CHILI LIME SEASONING PACKET. CARROTS MUST BE FIRM, CRISP. FRESH, BRIGHT ORANGE COLOR. FREE FROM DECAY, NO PRESERVATIVES. MUST MEET 1/2 CUP VEGETABLE SERVING FOR THE CHILD NUTRITION PROGRAM. PACKED APPROXIMATELY 75 SERVINGS PER CASE.	Forestwood	NET 21 DAYS	TAYLOR	1457	75 1/2 cup	\$0.27	\$20.00			\$0.00	\$4,000.00	\$4,000.00	
1459	200	Case	CELERY AND GRAPE TOMATO SNACK - FIRM, FRESH STALKS OF CELERY AND FIRM, BRIGHT RED GRAPE TOMAOTES. NO BRUISED OR SOFT SKIN ON TOMATOES. CELERY STALKS HAVE NOT BORWNING ON CUT ENDS. APPROXIMATELY 96-120 COUNT CASE. NO EVIDENCE OF DECAY. MUST MEET 1/2 CUP VEGETABLE SERVING FOR THE CHILD NUTRITION PROGRAM. PACKED APPROXIMATELY 80 COUNT CASE.	Forestwood	NET 21 DAYS	DNO	1459	80 1/2 cup	\$0.31	\$24.50			\$0.00	\$4,900.00	\$4,900.00	
1488	350	Case	GRAPE/CHERRY TOMATOES - SMALL MEDIUM SIZE, ROUND SHAPED WITH FIRM SHINY RED SKIN. NOT TOO RIPE, NO BLEMISHES OR LEAKES. STAGE 6 RED RIPENING. PACKED 12 PINTS/CASE	Forestwood	NET 21 DAYS	LIPMAN	1488	12/1 pint		\$17.00			\$0.00	\$5,950.00	\$5,950.00	
1597	1100	Bag	SALAD MIX BLEND – 5# BAGS, PACKED VACCUM SEALED. MIX TO CONSIST OF A MINIMUM OF 60% GREEN ROMAINE LETTUCE, WITH THE REMAINING 40% TO CONSIST OF A MIXTURE OF PRODUCTS LIKE: RADICCHIO, GREEN LEAF LETTUCE, ICEBURG LETTUCE, ARUGULA, ETC. NO SIGNS OF WILT, DISCOLORATION OR BROWN SPOTS, OR DECAY WILL BE ACCEPTABLE.	Forestwood	NET 21 DAYS	GREENE	1597	5#		\$7.50			\$0.00	\$8,250.00	\$8,250.00	

Stock Number	Quantities	Unit of Measurement	Description	Vendor	Terms	Brand	Product Code	Pack Size	Cost per Serving	Cost per Unit/Case	Percent Eligible for Local Produce Items Grown within a 260 Miles Radius from Memphis	Quantity of Produce Items Grown within 260 Miles from Memphis	Discount 5%	Extended Cost	Preference Weighted Bid Amount Total	Notes
1709	200	Case	APPLES, GALA - SMOOTH, FIRM, FRESH SKIN. WELL COLORED, NO DISCOLORATION OR BRUISES. APPROXIMATELY PACKED 125 - 138 COUNT.	Forestwood	NET 21 DAYS	CHELAN FRESH	1709	125/138 ct	\$0.18	\$24.95			\$0.00	\$4,990.00	\$4,990.00	
1738	40	Case	BROCCOLI FLORETTES, SNACK - 50-1/2 CUP PKG. NO PRESERVETIVES, FIRM, DARK GREEN IN COLOR.	Forestwood	NET 21 DAYS	ALABAMA PRECUT	1738	50-1/2 cup	\$0.43	\$21.50			\$0.00	\$860.00	\$860.00	
1741	925	Case	GRAPE TOMATO SNACK - CS (50 - 1/2 CUP PKG) GRAPE AND/OR CHERRY TOMATOES WITH BRIGHT TO DARK RED COLORING WITH NATURAL SHINE, FIRM, SMOOTH SKIN. FREE FROM DECAY AND DISCOLORATION.	Forestwood	NET 21 DAYS	CHURCH BOLTHOUSE	1741	50/1/2 ct	\$0.38	\$18.95			\$0.00	\$17,528.75	\$17,528.75	
1743	250	Case	ORANGE WEDGES - 1/2 CUP 50 CT - SNACK PACKS, SLICED ORANGE SNACK PACKS, FRESHLY PACKED AND BRIGHT IN COLOR, FRUIT FIRM, NO DISCOLORATION. FREE FROM DECAY, NO PRESERVATIVES.	Forestwood	NET 21 DAYS	ALABAMA PRECUT	1743	50 1/2 cup	\$0.46	\$22.75			\$0.00	\$5,687.50	\$5,687.50	
1744	450	Case	PINEAPPLE CHUNKS - SNACK PACKS, CUT IN BITE SIZED CHUNKS, PINEAPPLE SNACK PACKS, FRESHLY PACKED AND BRIGHT IN COLOR, FRUIT FIRM, NO DISCOLORATION. FREE FROM DECAY, NO PRESERVATIVES.	Forestwood	NET 21 DAYS	ALABAMA PRECUT	1744	50-1/2 cup	\$0.62	\$30.75			\$0.00	\$13,837.50	\$13,837.50	
1797	450	Case	GREEN & RED BELL PEPPERS - SNACK PACKS, FRESHLY PREPACKAGED. MUST BE PREWASHED AND FREE OF BLEMISHES. BRIGHT IN COLOR/S.	Forestwood	NET 21 DAYS	ALABAMA PRECUT	1797	50-1/2 cup	\$0.60	\$29.75			\$0.00	\$13,387.50	\$13,387.50	
1832	300	Case	TOMATOES SLICED- FIRM SHINY RED SKIN AND FRESH. NOT TOO RIPE, NO BLEMISHES OR LEAKS, HARD ENDS, STEMS, OR CAPS PRESENT. STAGE 6 RED RIPENING. PACKED IN 5 LB. CONTAINERS SEALED WITH FILM IN RESEALABLE ORIGINAL CONTAINER.	Forestwood	NET 21 DAYS	ALABAMA PRECUT	1832	5#		\$15.95			\$0.00	\$4,785.00	\$4,785.00	

Stock Number	Quantities	Unit of Measurement	Description	Vendor	Terms	Brand	Product Code	Pack Size	Cost per Serving	Cost per Unit/Case	Percent Eligible for Local Produce Items Grown within a 260 Miles Radius from Memphis	Quantity of Produce Items Grown within 260 Miles from Memphis	Discount 5%	Extended Cost	Preference Weighted Bid Amount Total	Notes
1836	250	Case	CANTALOUPE CHUNKS - SNACK PACKS, CUT IN BITE SIZED CHUNKS, CANTALOUPE SNACK PACKS, FRESHLY PACKED AND BRIGHT IN COLOR, FRUIT FIRM, NO DISCOLORATION. FREE FROM DECAY, NO PRESERVATIVES.	Forestwood	NET 21 DAYS	ALABAMA PRECUT	1836	50-1/2 cup	\$0.50	\$24.75			\$0.00	\$6,187.50	\$6,187.50	
1839	250	Case	WATERMELON CHUNKS - SNACK PACKS, CUT IN BITE SIZED CHUNKS, WATERMELON SNACK PACKS, FRESHLY PACKED AND BRIGHT IN COLOR, FRUIT FIRM, NO DISCOLORATION. FREE FROM DECAY, NO PRESERVATIVES.	Forestwood	NET 21 DAYS	ALABAMA PRECUT	1839	50-1/2 cup	\$0.45	\$22.50			\$0.00	\$5,625.00	\$5,625.00	
1840	200	Case	HONEYDEW CHUNKS - SNACK PACKS, CUT IN BITE SIZED CHUNKS, HONEYDEW SNACK PACKS, FRESHLY PACKED AND BRIGHT IN COLOR, FRUIT FIRM, NO DISCOLORATION. FREE FROM DECAY, NO PRESERVATIVES.	Forestwood	NET 21 DAYS	ALABAMA PRECUT	1840	50-1/2 cup	\$0.49	\$24.50			\$0.00	\$4,900.00	\$4,900.00	
				TOTAL										\$253,363.75	\$253,363.75	AWARD